

# The Tamil Nadu Dr. M.G.R. Medical University CHENNAI

# TIME TABLE - WRITTEN EXAMINATIONS FEBRUARY 2010 TO MARCH 2010 INDEX

Name of the Course Page No. Date of Examination

I - MED	ICAL		
UNDER GRADUATE COURSE  1. M.B.B.S	1	FROM 01-02-2010	TO 15-02-2010
POST GRADUATE DIPLOMA COURSES  2. Diploma in Medicine and Surgery	3	15-03-2010	23-03-2010
POST GRADUATE DEGREE COURSES  3. M.D. / M.S. Specialities	13	15-03-2010	22-03-2010
POST GRADUATE SUPER SPECIALITY COURSES 4. D.M. / M.Ch. Super Specialities	32	01-02-2010	09-02-2010

Date and Hour	Paper	Subjects	Q.P.	Sub.	Marks
			Code	Code	

# MEDICAL UNDER GRADUATE COURSE

### Bachelor of Medicine and Bachelor of Surgery (M.B.B.S.) Degree Examinations FIRST M.B.B.S. EXAMINATION - FEBRUARY 2010

#### **REVISED (NON-SEMESTER) REGULATIONS**

(Candidates admitted from 1997-98 onwards)

### REGULATION FOR THE MBBS DEGREE COURSE (NON SEMESTER) 2005 (Candidates admitted during the academic year 2005-06)

01-02-2010	Paper	I	Anatomy I	524051	4051	100
9-30 am to 12-30 pm						
02-02-2010	Paper	II	Anatomy II	524052	4052	100
9-30 am to 12-30 pm	_		5		40=0	400
03-02-2010	Paper	Ш	Physiology including	524053	4053	100
9-30 am to 12-30 pm	_		Bio-physics I		40=4	400
04-02-2010	Paper	IV	Physiology including	524054	4054	100
9-30 am to 12-30 pm	D	١,,	Bio-Physics II	504055	4055	400
05-02-2010	Paper	V	Biochemistry I	524055	4055	100
9-30 am to 12-30 pm 08-02-2010	Donor	VI	Biochemistry II	524056	4056	100
9-30 am to 12-30 pm	Paper	VI	Diochemistry ii	524050	4030	100

#### SECOND M.B.B.S. EXAMINATION - FEBRUARY 2010 REVISED (NON-SEMESTER) REGULATIONS

#### (For the candidates admitted from 1997-98 and the semester candidates admitted before 1997-98)

01-02-2010 2-00 pm to 5-00 pm	Paper	I	General Microbiology Immunology, Systematic Bacteriology	524061	4061	100
02-02-2010 2-00 pm to 5-00 pm	Paper	II	Virology, Mycology, Parasitology, Applied Microbiology	524062	4062	100
03-02-2010 2-00 pm to 5-00 pm	Paper	Ш	General Pathology and Haematology	524063	4063	100
04-02-2010 2-00 pm to 5-00 pm	Paper	IV	Systemic Pathology	524064	4064	100
05-02-2010 2-00 pm to 5-00 pm	Paper	V	Pharmacology I	524065	4065	100
08-02-2010 2-00 pm to 5-00 pm	Paper	VI	Pharmacology II	524066	4066	100
09-02-2010 2-00 pm to 5-00 pm	Paper	VII	Forensic Medicine (including Medical Jurisprudence and Toxicology)	524067	4067	100

Date and Hour	Paper	Subjects	Q.P.	Sub.	Marks
			Code	Code	

### THIRD M.B.B.S. PART-I EXAMINATION - FEBRUARY 2010 REVISED (NON-SEMESTER) REGULATIONS

#### (For the candidates admitted from 1997-98 and the semester candidates admitted before 1997-98)

10-02-2010	Paper	I	Ophthalmology	524071	4071	100*
9-30 am to 12-30 pm						
11-02-2010	paper	Ш	Oto-Rhino-Laryngology	524072	4072	100*
9-30 am to 12-30 pm						
12-02-2010	Paper	Ш	Community Medicine I	524073	4073	100*
9-30 am to 12-30 pm						
15-02-2010	Paper	IV	Community Medicine II	524074	4074	100*
9-30 am to 12-30 pm						

### THIRD M.B.B.S. PART-II EXAMINATION - FEBRUARY 2010 REVISED (NON-SEMESTER) REGULATIONS

#### (For the candidates admitted from 1997-98 and the semester candidates admitted before 1997-98)

01-02-2010 9-30 am to 12-30 pm	Paper I	General Medicine	524081	4081	100
02-02-2010 9-30 am to 12-30 pm	Paper II	General Medicine including Psychological Medicine	524082	4082	100
03-02-2010 9-30 am to 12-30 pm	Paper III	Surgery including Orthopaedics	524083	4083	100
04-02-2010 9-30 am to 12-30 pm	Paper IV	Surgery including Anaesthesia	524084	4084	100
05-02-2010 9-30 am to 12-30 pm	Paper V	Obstetrics including social Obstetrics	524085	4085	100
08-02-2010 9-30 am to 12-30 pm	Paper VI	Gynaecology and Family welfare	524086	4086	100
09-02-2010 9-30 am to 12-30 pm	Paper VII	Paediatrics including Neonatology	524087	4087	100

<sup>\*</sup> Revised Mark for Community Medicine, E.N.T. and Ophthalmology effect from February 2010 onwards (vide as per 37<sup>th</sup> S.A.B. dt. 10.06.2009)

Date and Hour	Paper	Subjects	Q.P.	Sub. N	/larks
			Code	Code	

#### POST GRADUATE DIPLOMA COURSES

#### **DIPLOMA IN MEDICINE AND SURGERY**

#### DIPLOMA IN OBSTETRICS AND GYNAECOLOGY (D.G.O.)

### Common to Candidates admitted upto 2003-04 & Candidates admitted from 2008-09 onwards

		Canc	iiuat	es admitted from 2000-03 onwards							
	PART - I										
	15-03-2010 9-30 am to 12-30 pm			Basic Sciences related to Obstetrics and Gynaecology	343003	3003	100				
				PART- II							
	17-03-2010 9-30 am to 12-30 pm	Paper	I	Obstetrics including Neonatology	343004	3004	100				
	18-03-2010 9-30 am to 12-30 pm	Paper	II	Gynaecology including Family Welfare	343005	3005	100				
Candidates admitted from 2004-05 to 2007-08											
	15-03-2010	Paper	1	Basic Sciences related to	343003	3003	100				
	9-30 am to 12-30 pm			Obstetrics and Gynaecology							
	17-03-2010 9-30 am to 12-30 pm	Paper	II	Obstetrics including Neonatology	343004	3004	100				
	18-03-2010 9-30 am to 12-30 pm	Paper	Ш	Gynaecology including Family Welfare	343005	3005	100				
		DIPI	ОМА	IN CLINICAL PATHOLOGY (D.C.P.)							
		J.: _		MMON TO ALL CANDIDATES							
			CO								
	15-03-2010 9-30 am to 12-30 pm	Paper	I	General and Systemic Pathology	343008	3008	100				
	17-03-2010 9-30 am to 12-30 pm	Paper	II	Biochemistry and Microbiology	343009	3009	100				
	18-03-2010 9-30 am to 12-30 pm	Paper	III	Haematology, Clinical Pathology and Cytology	343010	3010	100				

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
		OIPL	OMA IN CHILD HEALTH (D.C.H)			
			Candidates admitted upto 2003-04 es admitted from 2008-09 onwards	&		
			PART-I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences related to Paediatrics	343013	3013	100
			PART-II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Neonatology Developmental Paediatrics and Community Paediatrics	343014	3014	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Clinical Paediatrics	343015	3015	100
	Cand	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences related to Paediatrics	343013	3013	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Neonatology Developmental Paediatrics and Community Paediatrics	343014	3014	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Clinical Paediatrics	343015	3015	100
	DIPLOMA	INI	MEDICAL RADIO DIAGNOSIS (D.M.R	.D.)		
			Candidates admitted upto 2003-04 es admitted from 2008-09 onwards	&		
			PART - I			
15-03-2010 9-30 am to 12-30 pm			Medical Radiation Physics as applied to Radio Diagnosis.	343019	3019	100
	_		PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Radio Diagnosis and Imaging	343020	3020	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Radio Diagnosis including Nuclear Medicine	343021	3021	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	Cand	idate	es admitted upto 2004-05 to 2007-0	8		
15-03-2010 9-30 am to 12-30 pm	Paper	I	Medical Radiation Physics as applied to Radio Diagnosis	343019	3019	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Radio Diagnosis and Imaging	343020	3020	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Radio Diagnosis including Nuclear Medicine	343021	3021	100
	DIPLON	IA IN	MEDICAL RADIO THERAPY (D.M.R	.T.)		
			Candidates admitted upto 2003-04 ces admitted from 2008-09 onwards			
			PART - I			
15-03-2010 9-30 am to 12-30 pm			Medical Radiation Physics as applied to Radio therapy	343025	3025	100
			PART-II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	General Principles of Radio therapy including Radio-biology and Oncology.	343026	3026	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Clinical practice and Techniques of Radio therapy & Cancer Chemotherapy.	343027	3027	100
	Candi	date	es admitted from 2004-05 to 2007-0	8		
15-03-2010 9-30 am to 12-30 pm	Paper	I	Medical Radiation Physics as applied to Radio therapy	343025	3025	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	General Principles of Radio therapy including Radio-biology and Oncology.	343026	3026	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Clinical practice and Techniques of Radio therapy & Cancer Chemotherapy.	343027	3027	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	DIF	PLOI	MA IN ANAESTHESIOLOGY (D.A.)			
			Candidates admitted upto 2003-04 es admitted from 2008-09 onwards	&		
			PART - I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences related to Anaesthesia, History of Anaesthesia and Physics in Anaesthesia	343030	3030	100
17-03-2010 9-30 am to 12-30 pm	Paper	I	PART II Anaesthesiology	343031	3031	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Anaesthesiology including Critical Care and Recent Advances in Anaesthesia	343032	3032	100
	Candi	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences related to Anaesthesia, History of Anaesthesia and Physics in Anaesthesia	343030	3030	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Anaesthesiology	343031	3031	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Anaesthesiology including Critical Care and Recent Advances in Anaesthesia	343032	3032	100
	D	IPLO	OMA IN PUBLIC HEALTH (D.P.H.)			
		CC	MMON TO ALL CANDIDATES			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Statistics, Occupational Health, MCH/FP, Demography & Public Health Engineering	343047	3047	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Epidemiology, Monitoring and Evaluation, Entomology, Communicable & Non communicable diseases	343048	3048	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	National Programmes, Health Management, Economic Evaluation of Programmes, Health Education, International Health & Public Health	343049 Acts	3049	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	DIPLOM	IA IN	PSYCHOLOGICAL MEDICINE (D.P.M	.)		
		Can	didates admitted upto 2003-04			
			PART-I			
15-03-2010	Paper	I	Neuro anatomy and	343055	3055	50
9-30 am to 12-30 pm 17-03-2010	Donor	II	Neurophysiology General Psychology	242056	2056	50
9-30 am to 12-30 pm	Paper	II	General Esychology	343056	3056	50
18-03-2010	Paper	Ш	Social and Abnormal	343057	3057	50
9-30 am to 12-30 pm			Psychology	0.000.		
•			PART-II			
19-03-2010	Paper	ı	Neurology with applied	343058	3058	50
9-30 am to 12-30 pm	·		Biochemistry			
22-03-2010	Paper	II	Psychiatry including	343059	3059	50
9-30 am to 12-30 pm	5		Mental Health	0.40000	0000	
23-03-2010 9-30 am to 12-30 pm	Paper	Ш	Psychiatry including Child Psychiatry	343060	3060	50
9-30 ani to 12-30 pm			•			
			es admitted from 2004-05 to 2005-06			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Neuro anatomy and Neurophysiology	343061	3061	50
17-03-2010	Paper	II	(including Genetics & Biochemistry) Psychosocial Basis of Human	343062	3062	50
9-30 am to 12-30 pm	ιαροι	"	Behaviour (including General	J-3002	3002	50
•			Psychology, Social Psychology,			
			Psychometry and Biostatistics)			
18-03-2010	Paper	Ш	Psychiatry	343063	3063	50
9-30 am to 12-30 pm						
19-03-2010	Paper	IV	Psychiatry Specialities &	343064	3064	50
9-30 am to 12-30 pm			Neurology			
	Candi	idate	es admitted from 2006-07 to 2007-08			
15-03-2010	Paper	ı	Basic Sciences as related to Psychiatry	343065	3065	100
9-30 am to 12-30 pm	·		(Neuro anatomy, Neuro Physiology,			
			Neuro Chemistry, Biostatics, General			
			Psychology, Abnormal Psychology,			
			Social Psychology, Psychometry			
			and Genetics)			
17-03-2010	Paper	II	Clinical Psychiatry including	343066	3066	100
9-30 am to 12-30 pm	Danis		recent advances	0.40007	0007	400
18-03-2010 9-30 am to 12-30 pm	Paper	Ш	Psychiatry Specialities and General Medicine & Neurology related to Psychia	343067	3067	100
5 50 am to 12-50 pm			Medicine a Neurology related to resychia	u y		

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	Cand	lidat	tes admitted from 2008-09 onwards			
			PART-I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences as related to Psychiatry (Neuro anatomy, Neuro Physiology, Neuro Chemistry, Biostatics, General Psychology, Abnormal Psychology, Social Psychology, Psychometry and Genetics)	343065	3065	100
			PART-II			
17-03-2010 9-30 am to 12-30 pm	Paper	II	Clinical Psychiatry including recent advances	343066	3066	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Psychiatry Specialities and General Medicine & Neurology related to Psychiat	343067 try	3067	100
DIPLO	MA IN T	UBE	RCULOSIS AND CHEST DISEASES (D	).T.C.D.)		
			Candidates admitted upto 2003-04 8	Š.		
			PART-I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences as applied to Pulmonary Medicine	343052	3052	100
			PART-II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Tuberculosis (Pulmonary and Extrapulmonary)	343053	3053	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Non-Tuberculous Chest Diseases	343054	3054	100
	Candi	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences as applied to Pulmonary Medicine	343052	3052	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Tuberculosis (Pulmonary and Extrapulmonary)	343053	3053	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Non-Tuberculous Chest Diseases	343054	3054	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
DIPLOMA	IN PHYSI	CAL	. MEDICINE AND REHABILITATION (I	D.PHYS.ME	D.)	
			Candidates admitted upto 2003-04 tes admitted from 2008-09 onwards	&		
			PART - I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences in relation to Physical Medicine and Rehabilitation	343068	3068	100
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Physical Medicine and Rehabilitation of Neurological and Cardio thoracic disorders	343069	3069	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Physical Medicine and Rehabilitation of Musculo-Skeletal Disorders and Amputation Surgery	343070	3070	100
	Candi	idat	es admitted from 2004-05 to 2007-08	3		
15-03-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences in relation to Physical Medicine and Rehabilitation	343068	3068	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Physical Medicine and Rehabilitation of Neurological and Cardio thoracic disorders	343069	3069	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Physical Medicine and Rehabilitation of Musculo-Skeletal Disorders and Amputation Surgery	343070	3070	100
	D	IPL	OMA IN DIABETOLOGY (D.DIAB)			
			Candidates admitted upto 2003-04 tes admitted from 2008-09 onwards	&		
			PART-I			
15-03-2010 9-30 am to 12-30 pm			Applied Basic Medical Sciences	343071	3071	100
			PART-II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Diabetology	343072	3072	100
18-03-2010	Paper	II	Recent Advances in	343073	3073	100

Diabetology

9-30 am to 12-30 pm

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	Cand	idate	es admitted from 2004-05 to 2007-	·08		
15-03-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Medical Sciences	343071	3071	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Diabetology	343072	3072	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Recent Advances in Diabetology	343073	3073	100
DIPLOM	IA IN DE	RMA	TOLOGY, VENEREOLOGY, LEPRO	SY (D.D.V.L.)		
			Candidates admitted upto 2003- tes admitted from 2008-09 onward			
			PART-I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences in relation to the Speciality	343074	3074	100
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Principle of Dermatology Diagnosis and therapeutics	343075	3075	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Venereology and Leprology	343076	3076	100
	Cand	idate	es admitted from 2004-05 to 2007-	-08		
15-03-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences in relation to the Speciality	343074	3074	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Principle of Dermatology Diagnosis and therapeutics	343075	3075	100
18-03-2010	Paper	Ш	Venereology and Leprology	343076	3076	100

9-30 am to 12-30 pm

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	DIP	LON	MA IN ORTHOPAEDICS (D.ORTHO.)			
			Candidates admitted upto 2003-04 8 tes admitted from 2008-09 onwards	3.		
			PART-I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences and General principles of Surgery	353103	3103	100
			PART-II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Traumatology	353104	3104	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Orthopaedics and Rehabilitation	353105	3105	100
	Candi	date	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences and General principles of Surgery	353103	3103	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Traumatology	353104	3104	100
18-03-2010 9-30 am to 12-30 pm	Paper	Ш	Orthopaedics and Rehabilitation	353105	3105	100
	DI	PLC	MA IN OPHTHALMOLOGY (D.O.)			
			Candidates admitted upto 2003-04 8	ß.		
			PART-I			
15-03-2010 9-30 am to 12-30 pm			Ophthalmology including Microbiology, Anatomy, Physiology and Pathology of the Eye	353108	3108	100
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Refraction, Principles of Orthoptics and Community ophthalmology	353109	3109	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Ophthalmic Medicine and Surgery	353110	3110	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	Candi	date	s admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Ophthalmology including Microbiology, Anatomy, Physiology and Pathology of the Eye	353108	3108	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Refraction, Principles of Orthoptics and Community ophthalmology	353109	3109	100
18-03-2010 9-30 am to 12-30 pm	Paper	Ш	Ophthalmic Medicine and Surgery	353110	3110	100
	DIPLO	MA II	N OTORHINOLARYNGOLOGY (D.L.O.)	)		
			Candidates admitted upto 2003-04 & es admitted from 2008-09 onwards	k		
			PART-I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences in relation to ENT	353114	3114	100
			PART-II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Otorhinolaryngology including Audiology and Neuro-otology	353115	3115	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Otorhinolaryngology including Head and Neck Oncology and Endoscopy	353116	3116	100
	Cand	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences in relation to ENT	353114	3114	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Otorhinolaryngology including Audiology and Neuro-otology	353115	3115	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Otorhinolaryngology including Head and Neck Oncology and Endoscopy	353116	3116	100

Date and Hour	Paper	Subjects	Q.P.	Sub.	Marks
			Code	Code	

#### POST GRADUATE DEGREE COURSES - MD/MS SPECIALITIES

#### DOCTOR OF MEDICINE (M.D.) DEGREE EXAMINATIONS

### Old/New Regulations Merged with Revised Regulations in All Branches @ REVISED REGULATIONS

#### **BRANCH I - GENERAL MEDICINE**

#### Candidates admitted upto 2003-04

PA	R	Γ - Ι

			174141			
15-03-2010 9-30 am to 12-30 pm			Allied Clinical Sciences (Applied Basic Sciences)	209000	9000	100
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Medicine including Psychiatry	202001	2001	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Tropical Medicine	202002	2002	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Medicine including Children's Diseases	202003	2003	100
	Cand	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences in General Medicine	202000	2000	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Medicine including Psychiatry	202001	2001	100
18-03-2010 9-30 am to 12-30 pm	Paper	Ш	Tropical Medicine	202002	2002	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Medicine including Children's Diseases & Recent advances	202004	2004	100
	Cand	lidate	es admitted from 2008-09 onwards*			
			PART - I			
15-03-2010 9-30 am to 12-30 pm			Applied Basic Sciences in General Medicine	202000	2000	100
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Medicine including Psychiatry	202001	2001	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Tropical Medicine	202002	2002	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Medicine including Children's Diseases & Recent advances	202004	2004	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
			- OBSTETRICS AND GYNAECOLOGY didates admitted upto 2003-04			
			PART - I			
15-03-2010 9-30 am to 12-30 pm	Paper -	I	Allied Clinical Sciences (Applied Basic Sciences)	209000	9000	100
17-03-2010 9-30 am to 12-30 pm	Paper -	II	Medicine & Surgery as Applied to Obstetrics and Gynaecology	202005	2005	100
			PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper	I	Obstetrics including Neonatology	202006	2006	100
19-03-2010 9-30 am to 12-30 pm	Paper	II	Gynaecology including Family Welfare	202007	2007	100
22-03-2010 9-30 am to 12-30 pm	Paper	III	Recent Advances in Obstetrics & Gynaecology	202008	2008	100
	Candid	date	s admitted from 2004-05 to 2007-08+			
15-03-2010 9-30 am to 12-30 pm	Paper	1	Applied Basic Sciences in Obstetrics & Gynaecology	202009	2009	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Obstetrics including Recent Advances and Neonatology	202086	2086	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Gynaecology and Family Welfare including Recent Advances	202087	2087	100
22-03-2010 9-30 am to 12-30 pm	Paper	IV	Sub Specialities including Fertility Sciences, Endoscopy and Social Obstet	202088 rics	2088	100
	Candi	date	es admitted from 2008-09 onwards*+			
			PART - I			
15-03-2010 9-30 am to 12-30 pm			Applied Basic Sciences in Obstetrics & Gynaecology	202009	2009	100
			PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper	I	Obstetrics including Recent Advances and Neonatology	202086	2086	100
19-03-2010 9-30 am to 12-30 pm	Paper	II	Gynaecology and Family Welfare including Recent Advances	202087	2087	100
22-03-2010 9-30 am to 12-30 pm	Paper	III	Sub Specialities including Fertility Sciences, Endoscopy and Social Obstet	202088 rics	2088	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
			BRANCH III-PATHOLOGY			
		CC	MMON TO ALL CANDIDATES			
15-03-2010 9-30 am to 12-30 pm	Paper	I	General Medical and Surgical Pathology including applied aspects in Pathology	202010	2010	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	General Pathology	202011	2011	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Systemic Pathology	202012	2012	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Immunopathology, Haematology Principles and Application to Technological Advances in Laboratory Services	202013	2013	100
		Е	BRANCH IV-MICROBIOLOGY			
		CC	OMMON TO ALL CANDIDATES			
15-03-2010 9-30 am to 12-30 pm	Paper	I	General Microbiology and Immunology	202014	2014	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Systematic Bacteriology	202015	2015	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Virology & Parasitology	202016	2016	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Mycology and applied Microbiology & Recent advances	202017	2017	100
			BRANCH V-PHYSIOLOGY			
		CC	MMON TO ALL CANDIDATES			
15-03-2010 9-30 am to 12-30 pm	Paper	I	General Physiology, Blood, Digestion and Tissues of the body	202018	2018	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Circulation, Respiration, Environmental Physiology, Comparative Physiology and Excretion	202019	2019	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Nervous System and Special Senses	202020	2020	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	History of Medicine, Recent advances in Clinical Physiology, Endocrinology and Reproductive Systems	202021	2021	100

Date and Hour	Paper	Subjects	Q.P. Code	Sub. Code	Marks
	1	BRANCH VI-PHARMACOLOGY			
	C	OMMON TO ALL CANDIDATES			
15-03-2010 9-30 am to 12-30 pm	Paper I	General Pharmacology, Experimental Pharmacology and Bioassay	202022	2022	100
17-03-2010 9-30 am to 12-30 pm	Paper II	Systemic Pharmacology including Recent Advances	202023	2023	100
18-03-2010 9-30 am to 12-30 pm	Paper III	Clinical pharmacology and Pharmacotherapeutics including Recent Advances	202024	2024	100
19-03-2010 9-30 am to 12-30 pm	Paper IV	Applied Pharmacology and Forensic Pharmacology	202025	2025	100
		BRANCH VII PAEDIATRICS			
	Ca	ndidates admitted upto 2003-04 PART - I			
15-03-2010 9-30 am to 12-30 pm	Paper - I	Allied Clinical Sciences (Applied Basic Sciences)	209000	9000	100
17-03-2010 9-30 am to 12-30 pm	Paper - II	General Medicine **	202026	2026	100
		PART II			
18-03-2010 9-30 am to 12-30 pm	Paper I	Clinical Paediatrics	202027	2027	100
19-03-2010 9-30 am to 12-30 pm	Paper II	Neonatology, Developmental Paediatrics Preventive and Social Paediatrics	202028	2028	100
22-03-2010 9-30 am to 12-30 pm	Paper III	Specialities of Paediatrics Medicine	202029	2029	100
	Candida	tes admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper - I	Allied Basics Sciences in Paediatrics	202030	2030	100
18-03-2010 9-30 am to 12-30 pm	Paper II	Clinical Paediatrics	202027	2027	100
19-03-2010 9-30 am to 12-30 pm	Paper III	Neonatology, Developmental Paediatrics Preventive and Social Paediatrics	202028	2028	100
22-03-2010 9-30 am to 12-30 pm	Paper IV	Specialities of Paediatrics Medicine & Recent Advances	202085	2085	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks				
Candidates admitted from 2008-09 onwards* PART - I										
15-03-2010 9-30 am to 12-30 pm			Allied Basics Sciences in Paediatrics	202030	2030	100				
			PART II							
18-03-2010 9-30 am to 12-30 pm	Paper	I	Clinical Paediatrics	202027	2027	100				
19-03-2010 9-30 am to 12-30 pm	Paper	II	Neonatology, Developmental Paediatrics Preventive and Social Paediatrics	202028	2028	100				
22-03-2010 9-30 am to 12-30 pm	Paper	Ш	Specialities of Paediatrics Medicine & Recent Advances	202085	2085	100				
		BRA	ANCH VIII - RADIO DIAGNOSIS							
		Can	didates admitted upto 2007-08							
15-03-2010 9-30 am to 12-30 pm	Paper	I	Medical Radiation Physics as applied to Radio Diagnosis	202031	2031	100				
17-03-2010 9-30 am to 12-30 pm	Paper	II	Radio Diagnosis including Nuclear Medicine	202032	2032	100				
18-03-2010 9-30 am to 12-30 pm	Paper	III	Radio Diagnosis including Instrumentation & Contrast Studies	202033	2033	100				
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Radio Diagnosis including interventional Procedures & Recent Advances	202034	2034	100				
	Cand	lidat	es admitted from 2008-09 onwards*							
			PART - I							
15-03-2010 9-30 am to 12-30 pm			Medical Radiation Physics as applied to Radio Diagnosis	202031	2031	100				
			PART II							
17-03-2010 9-30 am to 12-30 pm	Paper	I	Radio Diagnosis including Nuclear Medicine	202032	2032	100				
18-03-2010 9-30 am to 12-30 pm	Paper	II	Radio Diagnosis including Instrumentation & Contrast Studies	202033	2033	100				
19-03-2010 9-30 am to 12-30 pm	Paper	III	Radio Diagnosis including interventional Procedures & Recent Advances	202034	2034	100				
		В	RANCH IX-RADIO THERAPY							
		Can	didates admitted upto 2007-08							
15-03-2010 9-30 am to 12-30 pm	Paper	I	Medical Radiation Physics as applied to Radiotherapy and Radiation Biology	202035	2035	100				
17-03-2010 9-30 am to 12-30 pm	Paper	II	General Principles of Radiotherapy including Radiobiology and Oncology	202036	2036	100				

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
18-03-2010 9-30 am to 12-30 pm	Paper	III	Clinical Practice and Technique of Radiotherapy	202037	2037	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Cancer Chemotherapy & Recent developments in Clinical Oncology & Radiotherapy	202038	2038	100
	Cand	lidat	es admitted from 2008-09 onwards* PART - I			
15-03-2010 9-30 am to 12-30 pm			Medical Radiation Physics as applied to Radiotherapy and Radiation Biology PART II	202035	2035	100
17-03-2010 9-30 am to 12-30 pm	Paper	I	General Principles of Radiotherapy including Radiobiology and Oncology	202036	2036	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Clinical Practice and Technique of Radiotherapy	202037	2037	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Cancer Chemotherapy & Recent developments in Clinical Oncology & Radiotherapy	202038	2038	100
			ANCH X - ANAESTHESIOLOGY didates admitted upto 2003-04 PART - I			
17-03-2010 9-30 am to 12-30 pm			Medicine Applied to Anaesthesiology PART II	202039	2039	100
15-03-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences related to Anaesthesia including Physics in Anaesthesia, History of Anaesthesia	202040	2040	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Anaesthesiology	202041	2041	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Anaesthesiology including Critical Care and Recent Advances in Anaesthesiology	202042	2042	100
	Cand	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences related to Anaesthesia including Physics in Anaesthesia, History of Anaesthesia	202040	2040	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Medicine Applied to Anaesthesiology	202039	2039	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Anaesthesiology	202041	2041	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Anaesthesiology including Critical Care and Recent Advances in Anaesthesiology	202042	2042	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	Cand	lidat	es admitted from 2008-09 onwards* PART - I			
15-03-2010 9-30 am to 12-30 pm			Applied Basic Sciences related to Anaesthesia including Physics in Anaesthesia, History of Anaesthesia	202040	2040	100
			PART II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Medicine Applied to Anaesthesiology	202039	2039	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Anaesthesiology	202041	2041	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Anaesthesiology including Critical Care and Recent Advances in Anaesthesiology	202042	2042	100
			NNCH XIII - BIOCHEMISTRY**** MMON TO ALL CANDIDATES			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Physical and Organic Aspects of Biochemistry, Instrumentation Biochemical Techniques, Biostatistic	202043	2043	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Cell Physiology, Molecular Biology and Human Genetics	202044	2044	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Intermediary Metabolism, Macro and Micro Nutrients and Inborn Errors of Metabolism	202045	2045	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Clinical Biochemistry, Human Nutrition, Endocrinology, Immunology and Recent Advances in Biochemistry	202046	2046	100
	В	RAN	CH - XIV - FORENSIC MEDICINE			
		CC	MMON TO ALL CANDIDATES			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Forensic Medicine in relation to Medicine and Surgery, Obstetrics and Gynaecology and Paediatrics	202047	2047	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Forensic Pathology, Forensic Immunology and Forensic Biochemistry	202048	2048	100
18-03-2010	Paper	Ш	Forensic Medicine including Physical	202049	2049	100
9-30 am to 12-30 pm 19-03-2010 9-30 am to 12-30 pm	Paper	IV	Anthropology and Forensic Odontology Forensic Toxicology, Forensic Psychiatry and Medical Jurisprudence and Recent Advances	202050	2050	100

Paper		Subjects	Q.P. Code	Sub. Code	Marks
В	RAN	ICH XV - COMMUNITY MEDICINE			
	Can	didates admitted upto 2003-04			
		PART - I			
		Tropical Medicine and Public Health Basic Sciences in Community Medicine	202051	2051	100
		PART - II			
Paper	I	Community Medicine	202052	2052	100
Paper	II	Health Care of Special Groups	202053	2053	100
Paper	Ш	Health Practice and Administration	202054	2054	100
Cand	idate	es admitted from 2004-05 to 2007-08			
Paper	I	Tropical Medicine and Public Health Basic Sciences in Community Medicine	202051	2051	100
Paper	II	Community Medicine	202052	2052	100
Paper	III	Health Care of Special Groups	202053	2053	100
Paper	IV	Health Practice and Administration and Recent Advances	202055	2055	100
Cand	lidat	es admitted from 2008-09 onwards* PART - I			
		Tropical Medicine and Public Health Basic Sciences in Community Medicine	202051	2051	100
		PART - II			
Paper	1	Community Medicine	202052	2052	100
Paper	II	Health Care of Special Groups	202053	2053	100
Paper	III	Health Practice and Administration and Recent Advances	202055	2055	100
	E	BRANCH - XVI GERIATRICS			
		didates admitted upto 2003-04			
		Allied Clinical Sciences (Applied Basic Sciences)	209000	9000	100
	Paper	Paper II Paper III	BRANCH XV - COMMUNITY MEDICINE Candidates admitted upto 2003-04  PART - I  Tropical Medicine and Public Health Basic Sciences in Community Medicine  PART - II  Paper I Community Medicine  Paper III Health Care of Special Groups  Paper II Tropical Medicine and Public Health Basic Sciences in Community Medicine  Paper I Tropical Medicine and Public Health Basic Sciences in Community Medicine  Paper III Health Care of Special Groups  Paper IV Health Practice and Administration and Recent Advances  Candidates admitted from 2008-09 onwards* PART - I Tropical Medicine and Public Health Basic Sciences in Community Medicine  PART - II  Paper I Community Medicine  PART - II  Paper I Health Care of Special Groups  PART - II  Paper II Health Care of Special Groups  PART - II  Paper II Health Practice and Administration and Recent Advances  BRANCH - XVI GERIATRICS  Candidates admitted upto 2003-04  PART - I Allied Clinical Sciences		BRANCH XV - COMMUNITY MEDICINE   Candidates admitted upto 2003-04   PART - I

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	General Medicine including Psycho Geriatrics	202056	2056	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Geriatrics	202057	2057	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Social & Preventive Geriatric including rehabilitation	202058	2058	100
	Cand	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Allied Basic Sciences in Geriatric Medicine	202059	2059	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	General Medicine including Psycho Geriatrics	202056	2056	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Geriatrics	202057	2057	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Social & Preventive Geriatric including Rehabilitation and Recent Advances	202060	2060	100
	Cano	didat	tes admitted from 2008-09 onwards*			
15-03-2010 9-30 am to 12-30 pm			Allied Basic Sciences in Geriatric Medicine	202059	2059	100
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	General Medicine including Psycho Geriatrics	202056	2056	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Geriatrics	202057	2057	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Social & Preventive Geriatric including Rehabilitation and Recent Advances	202060	2060	100
BRAI	NCH XVII	I-TUI	BERCULOSIS AND RESPIRATORY ME	DICINE		
		Can	didates admitted upto 2003-04 PART - I			
15-03-2010 9-30 am to 12-30 pm	Paper ·	-	Allied Clinical Sciences (Applied Basic Sciences as applied to Pulmonary Medicine)	202061	2061	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	General Medicine **	202026	2026	100

Date and Hour	Paper	Subjects	Q.P. Code	Sub. Marks Code
		PART - II		
18-03-2010 9-30 am to 12-30 pm	Paper I	Tuberculosis (Pulmonary and Extrapulmonary)	202062	2062 100
19-03-2010 9-30 am to 12-30 pm	Paper II	Non-Tuberculosis chest Diseases	202063	2063 100
22-03-2010 9-30 am to 12-30 pm	Paper III	Recent Advances in Tuberculosis and Chest Diseases	202064	2064 100
	Candidat	es admitted from 2004-05 to 2007-08		
15-03-2010 9-30 am to 12-30 pm	Paper - I	Applied Basic Sciences in Tuberculosis and Respiratory Diseases	202065	2065 100
18-03-2010 9-30 am to 12-30 pm	Paper II	Tuberculosis (Pulmonary and Extrapulmonary)	202062	2062 100
19-03-2010 9-30 am to 12-30 pm	Paper III	Non-Tuberculosis chest Diseases	202063	2063 100
22-03-2010 9-30 am to 12-30 pm	Paper IV	Recent Advances in Tuberculosis and Chest Diseases	202064	2064 100
	Candida	tes admitted from 2008-09 onwards* PART - I		
15-03-2010 9-30 am to 12-30 pm		Applied Basic Sciences in Tuberculosis and Respiratory Diseases PART - II	202065	2065 100
18-03-2010 9-30 am to 12-30 pm	Paper I	Tuberculosis (Pulmonary and Extrapulmonary)	202062	2062 100
19-03-2010 9-30 am to 12-30 pm	Paper II	Non-Tuberculosis chest Diseases	202063	2063 100
22-03-2010 9-30 am to 12-30 pm	Paper III	Recent Advances in Tuberculosis and Chest Diseases	202064	2064 100
	E	BRANCH XVIII - PSYCHIATRY		
	Car	ndidates admitted upto 2007-08		
15-03-20109 9-30 am to 12-30 pm	Paper I	Basic Sciences as related to psychiatry (including Neuro anatomy, neurophysiolo neurochemistry, Biostatics, General Psychology, Abnormal Psychology, Social Psychology, Psychometry and Genetics as related to Psychiatry)		2066 100
17-03-2010 9-30 am to 12-30 pm	Paper II	Clinical Psychiatry	202067	2067 100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
18-03-2010 9-30 am to 12-30 pm	Paper	III	Psychiatric Specialities and General Medicine and Neurology related to Psychiatry	202068	2068	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Psychiatry including Forensic Psychiatry and Community Mental Health ***	202069	2069	100
	Cand	lidat	es admitted from 2008-09 onwards* PART - I			
15-03-2010 9-30 am to 12-30 pm			Basic Sciences as related to psychiatry (including Neuro anatomy, neurophysiolog neurochemistry, Biostatics, General Psychology, Abnormal Psychology, Social Psychology, Psychometry and Genetics as related to Psychiatry)	202066 gy,	2066	100
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	I	Clinical Psychiatry	202067	2067	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Psychiatric Specialities and General Medicine and Neurology related to Psychiatry	202068	2068	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Recent Advances in Psychiatry including Forensic Psychiatry and Community Mental Health ***	202069	2069	100
M.D. B	RANCH	XIX -	- PHYSICAL MEDICINE AND REHABIL	ITATION		
		Can	didates admitted upto 2003-04			
			PART - I			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences relating to Physical Medicine and Rehabilitation	202070	2070	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Physical Medicine and Rehabilitation (including Physiotherapy, Occupational Therapy, Paediatrics, Obstetrics, Radiolog Genetics, Gynaecology, Industrial injuries Sports injuries, Electro Diagnosis.)		2071	100
18-03-2010 9-30 am to 12-30 pm	Paper	I	Physical Medicine & Rehabilitation -I . Musculoskeletal Disorders, Traumatology Neuromuscular Disorders	202072	2072	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
19-03-2010 9-30 am to 12-30 pm	Paper	II	Physical Medicine & Rehabilitation -II Cardiac and Pulmonary Rehabilitation Geriatric, O&G	202073	2073	100
22-03-2010 9-30 am to 12-30 pm	Paper	III	Physical Medicine & Rehabilitation -III Recent advances in Rehabilitation and Community Based Rehabilitation	202074	2074	100
	Cand	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences relating to Physical Medicine and Rehabilitation	202070	2070	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Physical Medicine and Rehabilitation I (including Physiotherapy, Occupational Therapy, Paediatrics, Radiology, Genetics, Industrial injuries, Sports injuries, Electro Diagnosis. Musculoskeletal Disorders, Neuromuscular Disorders)	202075	2075	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Physical Medicine & Rehabilitation -II (Cardiac and Pulmonary Rehabilitation Geriatric, O&G)	202073	2073	100
22-03-2010 9-30 am to 12-30 pm	Paper	IV	Physical Medicine & Rehabilitation -III Recent advances in Rehabilitation and Community Based Rehabilitation	202074	2074	100
	Cand	lidate	es admitted from 2008-09 onwards*			
15-03-2010 9-30 am to 12-30 pm			PART - I Applied Basic Sciences relating to Physical Medicine and Rehabilitation	202070	2070	100
			PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper	I	Physical Medicine and Rehabilitation I (including Physiotherapy, Occupational Therapy, Paediatrics, Radiology, Genetics, Industrial injuries, Sports injuries, Electro Diagnosis. Musculoskeletal Disorders, Neuromuscular Disorders)	202075	2075	100
19-03-2010 9-30 am to 12-30 pm	Paper	II	Physical Medicine & Rehabilitation -II (Cardiac and Pulmonary Rehabilitation Geriatric, O&G)	202073	2073	100
22-03-2010 9-30 am to 12-30 pm	Paper	III	Physical Medicine & Rehabilitation -III Recent advances in Rehabilitation and Community Based Rehabilitation	202074	2074	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
M.D. BF	RANCH -	XX -	DERMATOLOGY, VENEREOLOGY & I	EPROSY		
		Can	didates admitted upto 2003-04			
15-03-2010 9-30 am to 12-30 pm			PART - I Allied Clinical Sciences (Applied Basic Sciences in relation to the speciality) PART - II	202076	2076	100
17-03-2010 9-30 am to 12-30 pm	Paper	I	General and Tropical Dermatology including Venereology, Leprosy and their social Public health and preventive aspects.	202077	2077	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Dermatology including skin manifestations of systemic diseases and therapeutics	202078	2078	100
19-03-2010 9-30 am to 12-30 pm	Paper	III	Recent Advances in Dermatology, Venereology and Leprosy	202079	2079	100
	Cand	idate	es admitted from 2004-05 to 2007-08			
15-03-2010 9-30 am to 12-30 pm	Paper	1	Applied Basic Sciences in Dermatology Venereology and Leprosy	202080	2080	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	General and Tropical Dermatology including Venereology, Leprosy and their social Public health and preventive aspects.	202077	2077	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Dermatology including skin manifestations of systemic diseases and therapeutics	202078	2078	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Dermatology, Venereology and Leprosy	202079	2079	100
	Cand	lidat	es admitted from 2008-09 onwards* PART - I			
15-03-2010 9-30 am to 12-30 pm			Applied Basic Sciences in Dermatology Venereology and Leprosy	202080	2080	100
			PART - II			
17-03-2010 9-30 am to 12-30 pm	Paper	II	General and Tropical Dermatology including Venereology, Leprosy and their social Public health and preventive aspects.	202077	2077	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Dermatology including skin manifestations of systemic diseases and therapeutics	202078	2078	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Dermatology, Venereology and Leprosy	202079	2079	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks			
M.D. BRANCH - XXI - IMMUNOHAEMATOLOGY AND BLOOD TRANSFUSION									
		Can	didates admitted upto 2007-08						
15-03-2010 9-30 am to 12-30 pm	Paper	I	Basic applied aspects related to Transfusion Medicine	202081	2081	100			
17-03-2010 9-30 am to 12-30 pm	Paper	II	Immunohaematology, Immunogenetics applied serology	202082	2082	100			
18-03-2010 9-30 am to 12-30 pm	Paper	Ш	Blood Donor Organisation technology of Components Clinical Haemotherapy	202083	2083	100			
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in technology	202084	2084	100			
	Cand	lidat	es admitted from 2008-09 onwards* PART - I						
15-03-2010 9-30 am to 12-30 pm			Basic applied aspects related to Transfusion Medicine	202081	2081	100			
			PART - II						
17-03-2010 9-30 am to 12-30 pm	Paper	II	Immunohaematology, Immunogenetics applied serology	202082	2082	100			
18-03-2010 9-30 am to 12-30 pm	Paper	Ш	Blood Donor Organisation technology of Components Clinical Haemotherapy	202083	2083	100			
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in technology	202084	2084	100			

<sup>\*</sup> Vide 36th SAB held on 23 .12.2008

<sup>\*\*</sup> Common to M.D. Branches VII Paediatrics, and XVII Tuberculosis and Respiratory Diseases.

<sup>\*\*\*</sup> Vide 34th SAB Meeting held on 17.12.2007

<sup>@</sup> Vide 33rd SAB Meeting held on 20.06.2007

<sup>\*\*\*\*</sup> Title changed in the question paper Vide 34th SAB Meeting held on 17.12.2007

<sup>+</sup>Vide 36th SAB Meeting held on 23.12.2008

Date and Hour	Paper	Subjects	Q.P.	Sub.	Marks
			Code	Code	

# MASTER OF SURGERY (M.S.) DEGREE EXAMINATIONS Old/New Regulations Merged with Revised Regulations in All Branches @

## BRANCH - I GENERAL SURGERY Candidates admitted upto 2003-04

PART - I

15-03-2010 9-30 am to 12-30 pm			Allied Clinical Sciences (Applied Basic Sciences)	229000	9000	100				
			PART-II							
17-03-2010 9-30 am to 12-30 pm	Paper	I	Surgery	222211	2211	100				
18-03-2010 9-30 am to 12-30 pm	Paper	II	Surgery including Traumatology	222212	2212	100				
19-03-2010 9-30 am to 12-30 pm	Paper	Ш	Recent Advances	222213	2213	100				
Candidates admitted from 2004-05 to 2007-08										
15-03-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences in General Surgery	222214	2214	100				
17-03-2010 9-30 am to 12-30 pm	Paper	II	Surgery	222211	2211	100				
18-03-2010 9-30 am to 12-30 pm	Paper	Ш	Surgery including Traumatology	222212	2212	100				
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances	222213	2213	100				
	Cano	didat	es admitted from 2008-09 onwards PART - I							
15-03-2010 9-30 am to 12-30 pm			Applied Basic Sciences in General Surgery	222214	2214	100				
			PART-II							
17-03-2010 9-30 am to 12-30 pm	Paper	I	Surgery	222211	2211	100				
18-03-2010 9-30 am to 12-30 pm	Paper	II	Surgery including Traumatology	222212	2212	100				
19-03-2010 9-30 am to 12-30 pm	Paper	III	Recent Advances	222213	2213	100				

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
	В	RAN	CH II - ORTHOPAEDIC SURGERY			
		Can	didates admitted upto 2003-04 PART - I			
15-03-2010 9-30 am to 12-30 pm	Paper -	1	Allied Clinical Sciences (Applied Basic Sciences)	229000	9000	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	General Surgery	222215	2215	100
			PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper	I	Traumatology	222216	2216	100
19-03-2010 9-30 am to 12-30 pm	Paper	II	Orthopaedics	222217	2217	100
22-03-2010 9-30 am to 12-30 pm	Paper	Ш	Rehabilitation	222218	2218	100
	Candi	date	s admitted from 2004-05 to 2007-08	3+		
15-03-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences in Orthopaedic Surgery	222219	2219	100
18-03-2010 9-30 am to 12-30 pm	Paper	II	Traumatology including Recent Advances	222237	2237	100
19-03-2010 9-30 am to 12-30 pm	Paper	Ш	Orthopaedics including Recent Advances	222238	2238	100
22-03-2010 9-30 am to 12-30 pm	Paper	IV	Subspecialities in Orthopaedics and Traumatology (includes Paediatric Orthopaedics, Hand Surgery, Spine Surgery, Arthrop Arthroscopy, Sports Medicine and Orthopaedic Oncology)	222239 blasty,	2239	100
	Candi	date	es admitted from 2008-09 onwards* PART - I	+		
15-03-2010 9-30 am to 12-30 pm			Applied Basic Sciences in Orthopaedic Surgery	222219	2219	100
			PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper	I	Traumatology including Recent Advances	222237	2237	100
19-03-2010 9-30 am to 12-30 pm	Paper	II	Orthopaedics including Recent Advances	222238	2238	100

Date and Hour	Paper	Subjects	Q.P. Code	Sub. I Code	Marks
22-03-2010 9-30 am to 12-30 pm	Paper III	Subspecialities in Orthopaedics and Traumatology (includes Paediatric Orthopaedics, Hand Surgery, Spine Surgery, Arthropl Arthroscopy, Sports Medicine and Orthopaedic Oncology)	222239 asty,	2239	100
	BR	ANCH III - OPHTHALMOLOGY			
	Can	didates admitted upto 2003-04 PART - I			
15-03-2010	Paper - I	Allied Clinical Sciences	229000	9000	100
9-30 am to 12-30 pm		(Applied Basic Sciences)			
17-03-2010 9-30 am to 12-30 pm	Paper II	General Surgery ++	222221	2221	100
		PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper I	Ophthalmology including Community Ophthalmology & Refraction	222222	2222	100
19-03-2010 9-30 am to 12-30 pm	Paper II	Ophthalmology including Neuro Ophthalmology	222223	2223	100
22-03-2010 9-30 am to 12-30 pm	Paper III	Ophthalmology including Investigative Ophthalmology and Surgery	222224	2224	100
	Candidat	es admitted from 2004-05 to 2007-08	}		
15-03-2010 9-30 am to 12-30 pm	Paper - I	Applied Basic Sciences in Ophthalmology	222225	2225	100
18-03-2010 9-30 am to 12-30 pm	Paper II	Ophthalmology including Community Ophthalmology & Refraction	222222	2222	100
19-03-2010 9-30 am to 12-30 pm	Paper III	Ophthalmology including Neuro Ophthalmology	222223	2223	100
22-03-2010 9-30 am to 12-30 pm	Paper IV	Ophthalmology including Investigative Ophthalmology and Surgery and recent advances	222226	2226	100
	Candidat	es admitted from 2008-09 onwards* PART - I			
15-03-2010 9-30 am to 12-30 pm		Applied Basic Sciences in Ophthalmology	222225	2225	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
			PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper I	I	Ophthalmology including Community Ophthalmology & Refraction	222222	2222	100
19-03-2010 9-30 am to 12-30 pm	Paper I	I	Ophthalmology including Neuro Ophthalmology	222223	2223	100
22-03-2010 9-30 am to 12-30 pm	Paper II	I	Ophthalmology including Investigative Ophthalmology and Surgery and recent advances	222226	2226	100
			BRANCH IV - E.N.T.			
	Ca	anc	lidates admitted upto 2003-04 PART - I			
15-03-2010 9-30 am to 12-30 pm	Paper - I		Allied Clinical Sciences (Applied Basic Sciences)	229000	9000	100
17-03-2010 9-30 am to 12-30 pm	Paper I	I	General Surgery ++	222221	2221	100
			PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper I	l	E.N.T Including Audiology and Neurology	222227	2227	100
19-03-2010 9-30 am to 12-30 pm	Paper I	I	E.N.T. including Head and Neck Oncology	222228	2228	100
22-03-2010 9-30 am to 12-30 pm	Paper II	I	Recent Advances in E.N.T and Medicine and Surgery as applied to E.N.T.	222229	2229	100
	Candida	ites	s admitted from 2004-05 to 2007-08+			
15-03-2010	Paper - I		Applied Basic Sciences in	222230	2230	100
9-30 am to 12-30 pm			Oto Rhino Laryngology			
18-03-2010 9-30 am to 12-30 pm	Paper I	I	E.N.T Including Audiology and Neuro-Otology	222231	2231	100
19-03-2010 9-30 am to 12-30 pm	Paper II	I	E.N.T. including Head and Neck Oncology	222228	2228	100
22-03-2010 9-30 am to 12-30 pm	Paper I\	<b>V</b>	Rhinology, Laryngology and Recent advances including Paediatric ENT	3 222240	2240	100
	Candida	ate	s admitted from 2008-09 onwards*+ PART - I			
15-03-2010			Applied Basic Sciences in	222230	2230	100
9-30 am to 12-30 pm			Oto Rhino Laryngology			

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
			PART - II			
18-03-2010 9-30 am to 12-30 pm	Paper	I	E.N.T Including Audiology and Neuro-Otology	222231	2231	100
19-03-2010 9-30 am to 12-30 pm	Paper	II	E.N.T. including Head and Neck Oncology	222228	2228	100
22-03-2010 9-30 am to 12-30 pm	Paper	III	Rhinology, Laryngology and Recent advances including Paediatric ENT	222240	2240	100
			BRANCH V-ANATOMY			
		CO	MMON TO ALL CANDIDATES			
15-03-2010 9-30 am to 12-30 pm	Paper	I	Gross Anatomy	222233	2233	100
17-03-2010 9-30 am to 12-30 pm	Paper	II	Embryology and Genetics	222234	2234	100
18-03-2010 9-30 am to 12-30 pm	Paper	III	Histology, Neuroanatomy and Museum Techniques	222235	2235	100
19-03-2010 9-30 am to 12-30 pm	Paper	IV	Surgical Anatomy and Applied Anatomy and Recent Advances	222236	2236	100

<sup>\*</sup> Vide 36th SAB held on 23 .12.2008

<sup>\*\*\*</sup> Vide 34th SAB Meeting held on 17.12.2007

<sup>@</sup> Vide 33rd SAB Meeting held on 20.06.2007

<sup>++</sup> Common to M.S. Branch III Opthalmology and Branch IV E.N.T.

<sup>+</sup>Vide 36th SAB Meeting held on 23.12.2008

Date and Hour	Paper	Subjects	Q.P.	Sub. N	/larks
			Code	Code	

#### POST GRADUATE SUPER SPECIALITY COURSES

# DOCTOR OF MEDICINE (D.M.) DEGREE EXAMINATIONS [SUPER SPECIALITIES]

### BRANCH I-NEUROLOGY REVISED REGULATIONS

#### Candidates admitted upto 2005-06

01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences-(consisting of Neuro anatomy, Neuro-physiology, Neuro pathology, Neuro chemistry & Electro neuro physiology)	161101	1101	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Clinical Neurology - Basic Sciences	161102	1102	100
04-02-2010 9-30 am to 12-30 pm	Paper	Ш	Recent Advances in Neurology	161414	1414	100
03-02-2010 9-30 am to 12-30 pm	Paper	IV	Ancillary Subjects	161104	1104	100
			BRANCH I-NEUROLOGY			
			2006-07 REGULATIONS			
	Can	didat	es admitted from 2006-07 onwards			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences-(consisting of Neuro anatomy, Neuro-physiology, Neuro chemistry, Neuro pathology, Neuro Microbiology, Parasitology, Immunology, Epidemiology and Geneti	161411 cs)	1411	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Neurology, Neuro Psychiatry, Neuro Psychology, Paediatric Neurology	161412	1412	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Neuro Radiology, Electro Physiology Neuro Otology, Neuro Opthalmology and other investigatory procedures	161413	1413	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Neurology	161414	1414	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
			BRANCH II - CARDIOLOGY			
			REVISED REGULATIONS			
		Car	ndidates admitted upto 2005-06			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences - Cardiology	161421	1421	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Applied Cardiology including Heomodynamics	161152	1152	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Clinical Cardiology including Recent Advances.	161153	1153	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Special cardiac investigations and Therapeutic Procedures	161154	1154	100
			BRANCH II - CARDIOLOGY			
			2006-07 REGULATIONS			
	Can	dida	ites admitted from 2006-07 onwards			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences	161421	1421	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Clinical Cardiology	161422	1422	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Heomodynamics Therapeutics and Intervention	161423	1423	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances.	161424	1424	100
		ı	BRANCH III -NEPHROLOGY			
			REVISED REGULATIONS			
			Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Nephrology - Basic Sciences	161201	1201	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Clinical Nephrology, Dialysis, Transplantation,	161202	1202	100
03-02-2010 9-30 am to 12-30 pm	Paper	Ш	Nephrology-Dialysis & Transplantation	161203	1203	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances	161204	1204	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
		BRA	NCH-IV-GASTROENTEROLOGY REVISED REGULATIONS			
			Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences applied to the Speciality	161251	1251	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	General Gastroenterology including Paediatric and Preventive Gastroenterology	161252	1252	100
03-02-2010 9-30 am to 12-30 pm	Paper	Ш	Hepatobiliary, Pancreatic Diseases.	161253	1253	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in the Speciality	161254	1254	100
		BRA	NCH VII-MEDICAL ONCOLOGY			
			REVISED REGULATIONS			
			Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences (Radiation Physics Tumour Biology, Biochemistry, Biometry, Immunology & Pharmacology)	161301	1301	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	General Oncology including Tumour Pathology, Radiology and Nuclear Medicine	161302	1302	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Medical Oncology including Therapy, Epidemiology and Rehabilitation	161303	1303	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Medical Oncology	161304	1304	100
		В	RANCH IX-RHEUMATOLOGY			
			REVISED REGULATIONS			
			Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences & Diagnostic Procedures in Rheumatology & Clinical Immunology	161351	1351	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Clinical Rheumatology and Clinical Immunology	161352	1352	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
03-02-2010 9-30 am to 12-30 pm	Paper	III	Clinical Pharmacology, Rehabilitation Surgery, Special Problems related to Rheumatic diseases - Paediatric Rheumatology, Pregnancy and Rheumatic diseases	161353	1353	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Rheumatology and Immunology	161354	1354	100
	В		ICH X-CLINICAL HAEMATOLOGY REVISED REGULATIONS Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Structure and function of the Hemopoietic system moleclular biology and Genetic aspects of Haemopoiesis	161401	1401	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Laboratory Haematology	161402	1402	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Clinical Haematology	161403	1403	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Haematology	161404	1404	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
			URGIAE (M.Ch.) DEGREE EXAM (SUPER SPECIALITIES) DIO VASCULAR AND THORACIC SURGER REVISED REGULATIONS			
			Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences	181501	1501	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Thoracic and Cardio Vascular Surgery-I	181502	1502	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Thoracic and Cardio Vascular Surgery-II	181503	1503	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Thoracic and Cardio Vascular Surgery	181504	1504	100
NEV	VANDB		BRANCH II-NEURO SURGERY SED REGULATIONS FOR 5 YEARS CO	IIIDSE		
NEV			didates admitted upto 2004-05	UKSE		
		Can	PART - I			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences in relation to General Surgery	181551	1551	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	General Surgery	181552	1552	100
			PART - II			
03-02-2010 9-30 am to 12-30 pm	Paper	I	Neuroanatomy and Neurophysiology	181561	1561	100
04-02-2010 9-30 am to 12-30 pm	Paper	II	Neurochemistry and Neuropathology	181562	1562	100
05-02-2010 9-30 am to 12-30 pm	Paper	III	Clinical Neurology	181563	1563	100
			PART - III			
08-02-2010 9-30 am to 12-30 pm	Paper	I	Neuroradiology and clinical Neuro Surgery	181571	1571	100
09-02-2010 9-30 am to 12-30 pm	Paper	II	Operative Neuro Surgery and Recent Advances	181572	1572	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
		В	RANCH II-NEURO SURGERY			
	2005-	06 RI	EGULATIONS FOR 5 YEARS COURSE			
	Cand	idate	es admitted from 2005-06 to 2007-08			
			PART - I			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences in relation to General Surgery	181551	1551	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	General Surgery	181552	1552	100
			PART - II			
03-02-2010 9-30 am to 12-30 pm	Paper	I	Neuro Basic Sciences	181581	1581	100
04-02-2010 9-30 am to 12-30 pm	Paper	II	Clinical Neurology & Neuro Radiology	181582	1582	100
05-02-2010 9-30 am to 12-30 pm	Paper	III	Neuro Surgery	181583	1583	100
08-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Neuro Surgery	181584	1584	100
	Can	didat	es admitted from 2008-09 onwards			
			PART - I			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Applied Basic Sciences in relation to General Surgery	181551	1551	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	General Surgery	181552	1552	100
		E	BRACH II-NEURO SURGERY			
			3 YEARS COURSE			
			Common to all candidates			
03-02-2010 9-30 am to 12-30 pm	Paper	I	Neuro Basic Sciences	181581	1581	100
04-02-2010 9-30 am to 12-30 pm	Paper	II	Clinical Neurology and Neuro Radiology	181582	1582	100
05-02-2010 9-30 am to 12-30 pm	Paper	III	Neuro Surgery	181583	1583	100
08-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Neuro Surgery	181584	1584	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
В	RANCH	III-P	LASTIC & RECONSTRUCTIVE SURG	ERY		
		(	Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences and General Principles in Plastic Surgery	181601	1601	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Plastic Surgery - Regional	181602	1602	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Plastic Surgery - Applied	181603	1603	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Plastic Surgery as applied to allied Sciences and Recent Advances in Plastic Surgery	181604	1604	100
			BRANCH IV-UROLOGY			
			REVISED REGULATIONS			
		(	Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences applied to Urology	181651	1651	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	General Adult & Paediatric Urology	181652	1652	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Regional Systemic Urology	181653	1653	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Urology	181654	1654	100
		BRA	ANCH V-PAEDIATRIC SURGERY REVISED REGULATIONS			
		(	Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences applied to Paediatric Surgery	181701	1701	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Neonatal Surgery and Paediatric Genito Urinary Surgery*	181702	1702	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Regional and Systemic Paediatric Surgery	181703	1703	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Paediatric Surgery	181704	1704	100

Date and Hour	Paper		Subjects	Q.P. Code	Sub. Code	Marks
BRANC	H VI-SUF	RGIC	AL GASTROENTEROLOGY AND PRO	CTOLOGY		
			Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences as applied to Gastroenterology (applied Anatomy, applied Physiology, Microbiology and Clinical Pharmacology)	181751	1751	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Surgical Gastroenterology - General	181752	1752	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Surgical Gastroenterology related to Hepatobiliary & Pancreatic diseases	181753	1753	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Surgical Gastro-enterology & Proctology	181754	1754	100
	ı	BRA	NCH VII-SURGICAL ONCOLOGY REVISED REGULATIONS			
		(	Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences as applied to Surgical Oncology	181801	1801	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Surgical Oncology - I	181802	1802	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Surgical Oncology - II	181803	1803	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Surgical Oncology	181804	1804	100
		BRA	NCH VIII-VASCULAR SURGERY			
			REVISED REGULATIONS			
		(	Common to all candidates			
01-02-2010 9-30 am to 12-30 pm	Paper	I	Basic Sciences applied to Vascular Surgery	181851	1851	100
02-02-2010 9-30 am to 12-30 pm	Paper	II	Vascular Surgery	181852	1852	100
03-02-2010 9-30 am to 12-30 pm	Paper	III	Vascular & Endo Vascular Surgery	181853	1853	100
04-02-2010 9-30 am to 12-30 pm	Paper	IV	Recent Advances in Vascular Surgery	181854	1854	100